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έযেকােনা ১০ Μট ϕেѨর উЫর দাও                                              (10x1) 

Answer any 10 question  

১) যখন  আমরা ϡাত  সতҝ έথেক অϡাত সেতҝ উপনীত হই – তখন তােক িক বেল? 

 ক) অনুমান  খ) ϕতҝϠ গ) উপমান  ঘ) শя  

1) when we move form known truth to unknown truth, -- what is it called ? 

a) Perception b) Inference  c) Analogy d) Testimony  

২) অনুমােন কয়Μট পদ আেছ? 

ক) ৩ Μট  খ) ২ Μট গ) ৪ Μট ঘ) ১ Μট 

2) In a inference, how many terms are there ? 

a) 3  b) 2  c) 4 d) 1  

৩) সােধҝর আϜয় হল? 

ক) পϠ  খ)έহতΦ   গ)সাধҝ ঘ) এর িকছΦ ই নয়  

3) The shelter of sadhya is – 

 a) Paksa b) Hetu c) Sadhya d) None of these  

৪) নҝায়  মেত সিтকষ κ কয় ϕকার ? 

ক) ৪ ϕকার খ) ৬ ϕকার গ) ৮ ϕকার ঘ) ১০ ϕকার 

4) How many types of Sannikarsa are there according to Nyaya Philosophy ? 

a) 4  b) 6  c) 8 d) 10 

৫) έসখােন অনুমিত সјব নয় έযখােন – 



ক) িসষাধিয়ষা  আেছ এবং িসΝд আেছ   খ) িসষাধিয়ষা  আেছ এবং িসΝд έনই   গ) িসষাধিয়ষা  έনই 
এবং িসΝд έনই  ঘ) িসষাধিয়ষা  έনই এবং িসΝд আেছ 

5) Inference is not possible where – 

a) Both sisadhayisa and siddhi exist  

b) Sisadhayisa exists but siddhi does not exist  

c) neither sisadhayisa nor siddhi exists  

d) sisadhayisa does not exist but siddhi exists  

৬) ‘჈পЯ’ ϕতҝেϠ  έকান সিтকষ κ হয়? 

ক) সংেযাগ খ) সমবায় গ) সংযЅু সমবায় ঘ) সংযুЅ সমেবত সমবায় 

6) Which sannikarsha is used in the perception of colourness ? 

a) Samyoga b) Samavaya c) Samyukta samavaya d) Samyukta samaveta samayaya 

৭) িব჈д έহЯাভােসর উদাহরন έকানΜট ? 

ক) উৎপিЫ আেছ, তাই শя িনতҝ  

খ) শяЯ আেছ, তাই শя িনতҝ 

গ) শя চϠু еারা উপলিѐ, তাই শя িনতҝ 

ঘ) শя ᅂিতেগাচর, তাই শя িনতҝ 

7) Which one is the example of virtual hetvabhasa? 

a) sound is eternal, since it has origin  

b) sound is eternal, since it has soundness 

c) sound is eternal, since it is perceived by eyes. 

d) sound is eternal, since it is known by ears. 

৮) ϕতҝϠ কয় ϕকার ? 

ক) দুই ϕকার খ) চার ϕকার গ) পাচঁ ϕকার ঘ) ছয় ϕকার 

8) How many types of Pereception are there? 

a) 2  b) 4  c) 5  d) 6 

৯) চϠুর еারা ঘেটর ჈প ϕতҝেϠ – 

ক) সংেযাগ সিтকষ κ  খ) সমবায় সিтকষ κ  গ) সংযЅু সমবায় সিтকষ κ  ঘ) সংযুЅ সমেবত সমবায় 
সিтকষ κ 

9) ‘ The colour of the pot is perceived by the eye is – 



a) Samyoga sannikarsha  b) samavaya sannikarsha   c) Samyukta samavaya  d) samyukta 
samaveta samavaya sannikarsa  

১০) ইΝ϶েয়র সেД িবষেয়র যখন έলৗিকক সিтকষ κ হয়, তখন তােক িক বেল – 

ক) έলৗিকক ϕতҝϠ   খ) অেলৗিকক ϕতҝϠ গ) ϡানলϠণ ϕতҝϠ  ঘ) সামানҝলϠণ ϕতҝϠ 

10) the ordinary approximation of the sulyeet with the senses is called – 

a) Loukika perception  b) aloukika perception  c) samnnya laksana perception d) jnana 
laksana perception  

১১) έহЯাভাস কয় ϕকার ? 

ক) ৫  খ) ৪  গ) ৬  ঘ) ২ 

11) How many types of hetvabhasa are there ? 

 a) 5  b) 4 c) 6 d) 2 

১২) পϠ কয় ϕকার ? 

ক) ২ ϕকার খ) ৩ ϕকার গ) ৪ ϕকার ঘ) ৫ ϕকার 

12) How many types of paksa are there ? 

a) two types  b) three types c) four types d) five types  

১৩) ‘έযΜটর অনুপিѸিতেত কায κ ঘেট না’ বলেত έকান ধরেনর কারন িনেদκশ করা হয়? 

ক) পয κাч শতκ   খ) আবিশҝক শতκ  গ) পয κাч এবং আবিশҝক শতκ   ঘ) έকানΜটই নয়  

13) ‘In absence of which effect does not happen ‘ – which type of cause is mentioned by this 
statement ? 

a) Sufficient condition   b) Necessary condition c) Sufficient and necessary condition  d) none 
of these  

১৪) έয মামলায় হতҝাকারীর িবচার হয়, তােক িক ধরেনর মামলা বেল? 

ক) έদওয়ািন   খ) έফৗজদাির   গ) έদওয়ািন এবং έফৗজদাির  ঘ) έকানΜটই নয়  

14) What kind of case is it in which a murderer is judged ?  

a) civil   b) criminal  c) civil and criminal   d) none of these  

১৫) কুতকκ কােক বেল? 

ক) আপাতিনভΦ κল িমথҝা যΝুЅ  খ) আপাতিমথҝা সতҝ যΝুЅ  গ) ক এবং  খ  দুΜটই  ঘ) έকানΜটই নয়   

15) What is ‘Sophism’ ? 

a) Apparently true but false argument  b) Apparently false but true argument  c) Both (a) and 

    (b)   d) none of these  

 



    

 


